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1. Calculate the A Tu=T1 - TO and ATd =T3 - T2
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2. Get the Z-Time.(Tu and Td) 3 B
Tu=(T1+TO+ATu)/2 g §

Tu

Td=(T2+T3+ATd)/ 2 2 |

ZTime[ 0 _ ZTime[1l . ZTime[2 _ ZTime[ 3 -
1200 P (0] pZTime[0] 1000 P [1] pZTime[1] 1400 P [2] pZTime[2] 1400 [F P [3] pZTime[3]
o Entries 44831 L Entries 38909 o Entries 53039 o Entries 45513
1000 Mean  30.29 [ Mean 30.2 1200 = Mean  30.39 1200 = Mean  30.18
o RMS 7.151 800 = RMS  6.994 F RMS 6.506 o RMS  6.343
- [ - 1000 =
800f- - 1000 :
: ] o soof- soof-
600f= L [ :
[ 400} 600F= i
400f= - [ [
F - 400~ 400~
u 200 = o o
20F F 200~ 200
[ 1 1 o [ [ o
® 30 ) y Ry
ZTime[4 ZTime[5 ZTime[6 ZTime[7
P [4] pZTime[4] P [5] pZTime[5] 1600[E P (6] pZTime[6] P 7] pZTime[7]
[ Entries 44449 1000 - Entries 37102 [ Entries 52778 1400 :— Entries 43889
1000p= Mean  30.17 [ Mean  30.18 1400 = Mean  30.67 1200 E Mean  30.37
sook- RMS  7.178 00— RMS  7.046 1200 RMS  6.397 3 RMS  6.126
[ N E 1000 |-
- [ 1000 = o
- 600 F 800 |-
600[- F 800 [
aoof 400 600~ 600 3
[ [ 400f~ 400
200~ 200 E o
m L [ 200~ 200
-+ % 00 70 20 36 70 %0 50
Q) ZTime[ 8 - ZTime[9 i pZTime[10] . pZTime[11] .
> P [8] pZTime[8] P [9] pZTime[9] pZTime[10] 1200 pZTime[11]
1000~ Entries 28311 900 - Entries 43490 1400 - Entries 37831 [ Entries 49603
m " Mean 30.5 800 = Mean  30.32 1200 [ Mean 30.17 1000 - Mean  30.38
800 RMS  6.379 RMS  7.009 E RMS  5.724 [ RMS  6.424
L 700 = o L
- 1000 f= 800 |-
eoofF i 3 E [
r 500 = 8o 600~
a00f 400 soof- :
[ 300 = [ 400 =
[ 400~ [
o 200 [ [
200} 200 200
L 100~ E [
0 [ 1 A 0 ok 1 " 1 0 o
0 70 20 30 20 50 60 0 10 20 30 20 50 60 0 10 20 30 20 50 60 0
pZTime[12] - pPZTime[13] . pPZTime[14] . pPZTime[15] -
1000 pZTime[12] pZTime[13] pZTime[14] pZTime[15]
- Entries 31376 E Entries 45401 1400 :_ Entries 38657 F Entries 48208
[ Mean  30.17 Mean  30.24 1200 Mean  30.32 1000 p= Mean  30.34
800f= RMS 6.7 RMS _ 7.134 F RMS 5713 - RMS _ 6.262
[ 1000 800f~
600~ s00f= [
[ 3 600 |-
a0 soof- [
- - 400
[ 400 [
200 ] 3
3 ‘ 200 200p
0 [ I = 1 1 ok L h L 0 C
0 10 20 30 20 50 60 0 10 20 30 20 50 60 0

8 Modules, 16 Pairs | , Time[8ns]




4. Calculate with Tu and Td. 3 I

SumZTime = Tu + Td i
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4. Calculate with Tu and Td.

DeltazTime = Tu - Td
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Event Condition

== 0 ) ;
ScaledTrigBit != 4) ;
DetectorBit '= 1024 ) ;
ExtTrigType != 0 ) ’

DeltaTrig != 0 )
TRIGGERTAGIntegratedADC[2] > 1000 )
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DCVInitialPTime Dist.(DCV1)
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DCVInitialPTime Dist.(DCV2)
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DCVModuleEne Dist.
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DCVInitialPTime Dist.(DCV1) Nhi
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DCVInitialPTime Dist.(DCV2) Nhi
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Events

Events

Events

Events

DCVModuleEne Dist. Nhit == 2
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